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Count the number of light nuts to complete the missing number.1.

1 + = 107 + = 1064 + = 10 5 + = 10

+ 6 = 10+ 0 = 10+ 8 = 10 + 3 = 10

Count the number of dark nuts to complete the missing number.

Complete the missing number using the nuts to help you.2.

+ 2 = 10 9 + = 10 + 4 = 10

3 + = 10 + 5 = 10 10 + = 10
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Draw the dots in the empty part to make a whole of 10.3.
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Complete the missing number in the bar model.5.

5

Write the missing number of blocks.4.
Draw a line joining the pairs of numbers that bond to 10.
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